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c}d ²¥¾^c  

   

 

 qHc\p HcHy q²¾crIV Hc de} qH qBg \of²¾ \§Wc Wy N\y h}By 8 \¥²y¾ h²¾ & 

 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ Wy kcvc qd§IV & 

 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 31 \of²¾ h²¾ & 

 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 

 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 

\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 

qdIVJy & 

  Please check that this question paper contains 8 printed pages. 

  Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 31 questions. 

  Please write down the Serial Number of the question before 

attempting it. 

  15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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g¥HqdW \orqIAp – II 

SUMMATIVE ASSESSMENT – II 

JqVW 
(\¥Op^r EdXp) 

MATHEMATICS 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 90 

Time allowed : 3 hours Maximum Marks : 90 

 

qeAp\H q²¾cYyf : 

(i) gpcy \of²¾ kcvcr h²¾ & 

(ii) qBg \of²¾ \Wo qeM Htd 31 \of²¾ h²¾ O} Mpc I¥Tp£ ¹ A, ^, g AWy Y 

qe§M e¥Ty h}By h²¾ & 

(iii) I¥T A qe§M qB§H-qB§H A¥H epdy 4 \of²¾ h²¾ & I¥T ^ qeM 6 \of²¾ h²¾ 

qO²¾ªp£ qeM~ hc qBH \of²¾ 2 A¥H Yp h± & I¥T g qeM 10 \of²¾ h²¾ qO²¾ªp£ 

qeM~ hc \of²¾ qW¥²¾-qW¥²¾ A¥H Yp h± &  I¥T Y qeM 11 \of²¾ h²¾ qO²¾ªp£ 

qeM~ hc qBH 4 A¥H Yp h± & 

(iv) H±dHtdyRc ApqY Yr ecW~ Yr `²¾phr h± & 
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I¥T A 

\of²¾ g¥qIAp 1 W~ 4 WH hc qBH \of²¾ 1 A¥H Yp h± & 

1. OyHc 30 `r. E¨Mr qBH `r²¾pc, ZcWr E\c 10 3  `r. d¥^p \cNpep£ 

(\oqWq ¥̂^) ^Vp£Yr h±, Wp£ gvcO Yp EMpV H}V Hr h± ? 

2. 900 gy^p£ Yy qBH Uyc qeM} AMp²¾H qBH gŷ  MtV²¾ Wy gqmAp h}qBAp (Icp^) 

gy^ HUV Yr g¥_pe²¾p 0.18 h± & Uyc qeM gmy h}By (Icp^) gy^p£ Yr qJVWr 

Hr h± ?  

3. qBH A¥HJqVqWH dmr, qOg qeM a
21

 – a
7
 = 84 h±, Yp gp£Pp A¥Wc Hr h± ? 

4. OyHc qHgy ^phcdy q^¥Yt P W~ a AcZqeApg AWy O HzYc epdy M§Hc Wy 

qI§MrAp£ JBrAp£ Y} g\cf cyIpep£ Yy Ycq`Ap²¾ Yp H}V 60 h}ey, Wp£ OP Yr 

d¥^pBr \Wp Hc} & 

I¥T ^ 

\of²¾ g¥qIAp 5 W~ 10 WH hc qBH \of²¾ Yy 2 A¥H h²¾ & 

5. qBH cyIp y-Ztcy AWy x-Ztcy ²¥¾v Hc`epc q ¥̂YvAp£ P AWy Q E\c HRYr h± & 

OyHc (2, – 5), PQ Yp `§Z q ¥̂Yv h±, Wp£ P AWy Q Yy q²¾cYyf-A¥H \Wp Hc} &  

6. OyHc P(x, y) YrAp£ A(5, 1) AWy B(– 1, 5) W~ YvcrAp£ ^cp^c h}V, Wp£ qg§Z 

Hc} qH 3x = 2y. 

7. p Yp Eh `p²¾ \Wp Hc} qOgYy dBr Y}KpWr g`rHcV px2 – 14x + 8 = 0 Yp 

qBH `vd Yvgcy Yp 6 JtVp h± &  
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8. qg§Z Hc} qH M§Hc Yr qHgy eWc (Orep) Yy qgcy q ¥̂YvAp£ Wy qIMrAp£ JBrAp£ 

g\cf cyIpep£ eWc Yy ²¾pd ^cp^c H}V ^Vp£YrAp£ h²¾ & 

9. qBH M§Hc qHgy MWtc_tO ABCD YrAp£ gpcy Mpcp£ _tOpep£ ²¥¾v g\cf HcYp h± & 

qg§Z Hc} qH 

AB + CD = BC + DA 

10. A¥HJqVqWH dmr 8, 14, 20, 26¸... Yp qHW²¾ep£ \Y qBg Yy 41ez \Y W~ 72 

qkApYp h}eyJp ? 

I¥T g 

\of²¾ g¥qIAp 11 W~ 20 WH hc qBH \of² Yy¾ 3 A¥H h²¾ & 

11. qBH S}¾g d}hy Yy KVpe YrAp£ Apap` 4.4 `r.  2.6 `r.  1.0 `r. h²¾¾ & qBg 

²¥¾v q\Kdp Hy 30 g±.`r. A¥Ycv²¾r AcZqeApg AWy 5 g±.`r. ¡̀RpBr Yp I}Idp 

qgd¥Tc ApHpc \pBr\ ^VpqBAp qJAp h± & \pBr\ Yr d¥^pBr \Wp Hc} & 

12. qY§Wy JBy qM§Wc qeM, O HzYc epdy Y} g`HzYcr M§Hcp£ Yy AcZqeApg  

21 g±.`r. AWy 42 g±.`r. h²¾ & OyHc  AOB = 60 h±, Wp£ NpqBApqnW 

(fyqTT) _pJ Yp IyWc³d \Wp Hc} & [  = 
7

22  de} ] 

 



40/2 5 P.T.O. 

13. 5.4 `r. M¡mr AWy 1.8 `r. Tv¥Kr qBH ²±¾hc qeM \pVr 25 qH.`r./K¥Rp Yr 

Mpd ²¾pd eJ qchp h± & qBg qeM~ 40 q`¥R qeM qHW²y¾ IyWc³d Yr qg¥OpBr h} 

gHYr h±, OyHc qg¥OpBr Yy dBr 10 g±.`r. Tv¥Ky \pVr Yr OcvcW h± ? 

14. q^¥Yv 







y,

11

24 , q ¥̂YvAp£ P(2, – 2) AWy Q(3, 7) ²¥¾v q`dpEV epdy cyIpI¥T ²¥¾v 

qHg A²¾®\pW qeM e¥TYp h± ?  y Yp `p²¾ er \Wp Hc} & 

15. qBH `r²¾pc Yy ApZpc W~ JtOc²¾ epdr qgZr cyIp E\c ApZpc W~ Hc`epc  

4 `r. AWy 16 `r. YvcrAp£ E\c Y} q^¥Yv C AWy D gqXW h²¾ & OyHc C AWy 

D W~ `r²¾pc Yy qgIc Yy EMpV H}V qBH YvOy Yy \vcH h}V, Wp£ `r²¾pc Yr 

EMpBr \Wp Hc} & 

16. qBH X±dy qeM 15 g³±Y AWy HtP HpdrAp£ JzYp h²¾ & OyHc X±dy qeM~ qBH 

Hpdr JzY H§UV Yr g¥_pe²¾p£ qBH g³±Y JzY H§UV Yr g¥_pe²¾p£ Yr qW¥²¾ JtVr 

h±, Wp£ X±dy qeM HpdrAp£ JzYp£ Yr qJVWr \Wp Hc} & 

17. qY§Wy JBy qM§Wc qeM, hc qBH 3 g±.`r. qeApg Yy qW¥²¾ AcZ M§Hc,  

4.5 g±.`r. qeApg Yp qBH M§Hc AWy 4.5 g±.`r. AcZqeApg Yp qBH AcZ 

M§Hc ^VpBy JBy h²¾ & NpqBApqnW (fyqTT) _pJ Yp IyWc³d \Wp Hc} &  
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18. 2.4 g±.`r. EMpBr AWy 0.7 g±.`r. AcZ qeApg Yy qBH S}¾g d¥̂  M§Hcr 

qgd¥Tc W~ qgd¥Tc Yr ^cp^c EMpBr AWy ^cp^c AcZ qeApg Yp qBH d¥^ 

M§Hcr f¥Hv (H}²¾) H§R Hy HU qdAp Op£Yp h± & ^My h}By S}¾g Yp Htd gWhr 

IyWc³d \Wp Hc} &  

19. OyHc qBH A¥HJqVqWH dmr Yp 10ep£ \Y 52 h± AWy 17ep£ \Y, 13ez \Y W~ 

20 qkApYp h± & A¥HJqVqWH dmr \Wp Hc} & 

20. OyHc x qeM g`rHcV (c2 – ab) x2 – 2 (a2 – bc) x + b2 – ac = 0 Yy `vd 

^cp^c h}V Wp£ YcgpG qH Op£ Wp£ a = 0 h± Op£ a3 + b3 + c3 = 3abc  h± & 
 

 

I¥T Y 

\of²¾ g¥qIAp 21 W~ 31 WH hc qBH \of²¾ Yy 4 A¥H h² ¾&  

21. OyHc q^¥Yv A(k + 1, 2k),  B(3k, 2k + 3)  AWy  C(5k – 1, 5k) g`cyIr h²¾, Wp£ 

k Yp `p²¾ \Wp Hc} & 

22. Y} e§I} e§I \pqgAp£ ²¥¾v qBHqS¾Ap£ ENpqdAp qJAp & g¥_pe²¾p \Wp Hc} qH 

\op\W g¥qIApep£ Yp 

(i) O}m g` h}eyJp, AWy 

(ii) JtV²¾³d g` h}eyJp & 

23. qBH qWo_tO ABC Yr cM²¾p Hc}, qOg qeM _tOp BC = 7 g±.`r.  B = 45,  

 A = 105 h}V & htV qBH h}c qWo_tO Yr cM²¾p Hc} qOgYrAp£ _tOpep£  ABC 

YrAp£ g¥JW _tOpep£ Yr 
4

3  JtVp h± & 
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24. qHgr ecIp Od g¥JohV \oVpdr qeM, 22 `r.  20 `r. Yr N§W W~ ecIp Yp 

Od e±h Hy 2 `r. ApZpc Yy qeApg AWy 3.5 `r. EMpBr Yy qBH qgd¥TcpHpc 

R|H qeM qBH§S¾p ht¥Yp h± & OyHc R|H \vcp _c qJAp h}ey Wp£ \Wp Hc} qH 

g±.`r. qeM qHW²¾r ecIp h}Br & Od g¥cIV ^pcy Ap\Vy erMpc qd§I} & 

25. qg§Z Hc} qH qBH M§Hc Yy qHgy ^phcr q^¥Yv W~ M§Hc Wy qI§MrAp£ JBrAp£ Y} 

g\cf cyIpep£ YrAp£ d¥̂ pBrAp£ ^cp^c ht¥YrAp£ h²¾ & 

26. qY§Wy JBy qM§Wc qeM XY AWy XY, O HzYc epdy M§Hc YrAp£ Y} g`p£Wc 

g\cf cyIpep£ h²¾ AWy qBH h}c g\cf cyIp AB, qOgYp g\cf q^¥Yv C h±, 

XY ²¥¾v A AWy XY ²¥¾v B E\c HRYr h± & qg§Z Hc} qH  AOB = 90. 

 

27. OyHc Y} A¥HJqVqWH dmrAp£ Yy \±hdy n \Yp£ Yy O}mp£ qeM A²¾®\pW  

(7n + 1) : (4n + 27) h± Wp£ E²¾ªp£ Yy 9ez \Yp£ qeM A²¾®\pW \Wp Hc} & 

28. x Yy dBr hd Hc} : 

5,
2

3
x,

9

1
1

5x

1

3x2

1






 

29. qBH cydJ§Tr 300 qH.`r. Yp cgWp qBH} Ohr Mpd ²¾pd W± HcYr h± & OyHc 

cydJ§Tr Yr Mpd 5 qH.`r./K¥Rp eZp qYWr OpBy Wp£ g³c qeM 2 K¥Ry KR 

g`p£ dJYp h± & cydJ§Tr Yr `vd Mpd \Wp Hc} & 
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30. qBH ApY`r qBH `r²¾pc Yr M}Rr E\c ^±S¾p qBH} Ohr Mpd ²¾pd `r²¾pc ed 

Ap chr qBH Hpc ²¥¾v YyIYp h± & OyHc 12 q`¥R qeM Hpc Yp ²¾repV H}V ^Yd 

Hy 30 W~ 45 h} Op£Yp h±, Wp \Wp Hc} qH qHW²y¾ g`z qeM Hpc `r²¾pc WH 

\ht¥M OpByJr & 

31. qY§Wy JBy qM§Wc qeM  ABC qBH g`H}V qWo_tO h±, qOg  A, 90 h± & AB, 

AC AWy BC ²¥¾v qeApg `¥²¾ Hy AcZ M§Hc ^VpBy JBy h²¾ & NpqBApqnW 

(fyqTT) _pJ Yp IyWc³d \Wp Hc} & 

 

 

 

     100 


